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D x243xy—292 = (2x+y) (x—2y)
@x(r-1)-y+1=(-1)(x-1)

® ¥ —dx=x(x-2)*

@ x2-y2-2x+2y=(x+y)(x—y-2)

® (2x+1)°-(x-2)=Bx-1)(x+1)

@ —dx=x(x-2)(x+2)
DI = i — (Gl =)
® (2x+1)° - (x-2)°=3x-1) (x+3)
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@ x*-x-6=(x-3)(x+2)

@ -4 =(x+2)(x-2)

® & —x -2 =x(x+1)(x-2)
@ 18x% - 2x = 2x(3x - 1) (3x + 1)

@3x2—|—6x—|—3:(3x+1)(x+2)

©3x2+6x+3:3(x+1)2
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@ x*-16 © x*-2x
© x2-4x+4 ® x*-16
® 6,0 06 )0, ©, ® ® ©,6e
@ 9,0 ® O,

@ (x—4)(x+4)

© x(x-2)

© (x-2)°

® (x*+4)(x-2)(x+2)
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(@)612—|—2ab—|—b2 = (a+b)?

@ x*+ (a+b)x+ab= (x+a)(x+b)
® a® + 3a2b + 3ab® + b® = (a + b)*
@ a®+b® = (a+b) (a® - ab + b?)

® a*-b* = (a-b) (a® +ab+b?)
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o]zl 479] Fo]9] Yol g2
a?+ab+ab+b?>=a*+2ab+b> ---O

a+b A ZALEE TE 4 9, o] If
(a+b)2 .©
A, ©A a2 + 2ab + b2 = (a + b)?
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7. 12ax? — 12axy + 3ay? & A+E351H?

@ 12(ax — ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ©3a(2x -y)?

12ax? — 12axy + 3ay* = 3a(4x? — 4xy + y?)
= 3a(2x - y)?




9x* + Ax + 16 7} A FA] o] HEE g o, A O] 27

O 24 @ 12 @ =10 @ =12 @124

9x2 + Ax+ 16 = (3x £ 4)% = 9x? + 24x + 16
SLA=124
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x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242




11. o 4 & - 64 Q5-Rafaim?

@ (a+8)(a-3) ® (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)

® (a+16)(a—4)

‘ a’>-64 =a*-8%= (a+8)(a-28)




12, (3x+1)(3x-1)-2(3x—-1)>Z A/M3H Ax® + Bx+ C € 0|, €9
#e ot

> =
> ™eh: ¢c=-3

B

(£4]) = (3x-1) (3x+1-6x+2)
=(3x-1)(-3x+3)
=-9x>4+9x+3x-3
=-9x2 +12x-3
=Ax>+Bx+C

T C=-3
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Q15 Fatofet,

a’b+ab-a-1=ab(a+1)-(a+1)
=(a+1)(ab-1)

a*—ab+a-b=a(a-b)+ (a-b)
=(a-b)(a+1)
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15. o2 Z a2 -ab® 9 R

© a-b

© a?b
@ a(a+Db)

@ ab?
® a+b




16. a(y-3)+4(3-y) & A5Eelora?

O -(y+3)(a+4) @ (y+3)(a+4)
® 4da(y-3) @(y—3)(a—4)
® (y-3)(a+4)

a(y=3)+43-y) =a(y-3)-4(-3+y)
=(-3)(a-4)







18. 4a(x-5)-2a(5 - x) & AF-Eaat?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
@)2a(x-5)(2a+1) @ 2a(5 - x)(2a+ 1)
® 2a(x-5)(1-a)

4a?(x - 5) = 2a(5 — x) = 4a®(x - 5) + 2a(x - 5)
=2a(x—5)(2a+1)




19. ThS B7] Z a(x—y) + 2ab(y - x) ©] Q42 BE 12 A9
=
@ a(y+x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
® x-y ® (x-y)(a-2b)
® 9.6 @ 060 ® ©60
@eeo 6 ©0.0

a*(x =y) + 2ab(y - x) = a*(x = y) - 2ab(x - y)
= a(x - y)(a - 2b)




@ a®+ 2ab+ b? = (a + b)?
© a2 - 2ab+ b2 = (a - b)>
© a®>-b?>=(a+b)(a-D)
® X+ (a+b)x+ab=(x+a)(x+b)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)
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21. (x+6)(x+2)+k 7t 2 ABA] B W), 4% ko] g Ftolet,

X2 4+8+124+k=0
(x+4)%2=0
k=4




22, (2045)(2x+9)+k 7} SAABAC] 2 vf, 4=k ©] L Fatolat,

> E

> Het: k=4

4x% +28x + 45+ k= (2x + 7)?
k=4
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23. x o gt o] A4l (2x —a + 2) (2x + 8 + 2a) 7} LAAF Al 0] &
5 a O FL& Fotofet

> E:

> He: a=-2

—a+2=8+2a
—3a=06
La= -2




24. 45 + (m—3)x + 16 °] LHAZA 0] HEZ sHz m o e BF
T3] 1 g Fahu?

O -13 @ -16 ® -8 @6 ® 19

B ~

4x% + (m—3)x+ 16 = (2x + 4)?
m—3=+2Xx2x4==+16
m=19 = m=-13

. 19-13=6




25. 922 — (m - 5)xy + 64y* o] SLAAFAl0] B m 0] 52| F& Tt
w7

@® -53 @ -43 @ 10 @ 43 ® 53

9x2 — (m — 5)xy + 64y* = (3x + 8y)?

= 9x? + 48xy + 64y?
(m-5) =48 W, m = 53
(m=5)=-48%Y W, m = -43
Sob3-43=10
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@ y+1

® x+y

rr

w+x+y+1l=x(y+1)+@H+1)
=(x+1)(+1)

x2+x—xy—y:x(x+1)_y(x+1)
=(x+1)(x-y)
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> He x+1

B

xy+x+y+l=x(y+1)+y+1
=(x+1)0O+1)

-xy+x-y=x(x-y
(x+1)

+x-y
x=y)
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